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HIH @ 20224E7THIH () ~7TH10H (H) S ZHEAZBMG AR—Y Ok $5FE KB (50m)

No. 11 &F 50m Fik&E ¥ sEE 3211

B K 4 T B FE KK B E
1 EEbHHOZ I SSHY¥ mlo12/ 4 33. 81 9%k
2 g A8 HT7ASS B2 12/ 5 34.09 9%,
3 MiE EAN O =3 11/ 4 34.57 9%
4 phE Ak WHTMS C =310/ 4 34.74 9%
5 A HEE HLy7SC #1112/ 3 34.76 10:%

- JOC
6 8T Kk JSSATF =l 11/ 5 34.97 9%
7 8K HAE = =3 12/ 6 36.79 Tk
8 AFF I WA S C Ml 9/ 4 37.00 9%k
9 ZfE KH AEH KL 1 10/ 6 37.03 Ok
10 BH HF J S SIABK F2 11/ 6 37.10 8k
11 3t f&H MBS#/n" =7 =3 11/ 2 37.20 TH%
12 AR il A b~ H2 0 11/ 3 37.32 %
13 Hrlr Z5H HT2ASS =2 11/ 7 37.42 6%
14 il #L3 J S SHPk 2 10/ 2 37.45 Stk
15 FAY  #HAE J SSHAF /N5 10/ 5 37.60 9%k
16 i B eI NS =3 11/ 1 37.90 6%
17 A AR, T S SRR F110/ 7 37.94 TH%
18 T 48 SPRE7=E 0 N6 12/ 1 38.39 9%k
19 F%E L SPEE7-£ 0 2 12/ 7 38.70 TH%
20 AR L il J SSHF /N6 10/ 3 38. 80 84
21 AARZEKIR WFE S C 3 11/ 8 38. 87 6%
22 #k Eh ZM4S S F3 12/ 2 38.92 6tk
23 YN R W7 eSS /)6 8/ 5 39.12 8k
24 EH FfE SPRHETZE D P10/ 1 39.42 Tk
25 KL s A IWAHS C /N6 9/ 5 39.49 8%
26 BEH EE Hhy X SC /6 9/ 8 39. 63 T
27 =R EAE WIS C 13 9/ 3 40. 07 55k
28 K4 PSR 2E/SS 12 9/ 6 40. 15 6%
29 fRIE AE3 4SS 2 10/ 8 40. 31 65%
30 FHE LR SCHZR 2 8/ 3 40. 32 67%
31 4 ko H7YHeSS &3 8/ 4 40. 33 45%
32 HR EE HBTHESS /)5 8/ 1 40. 40 8%
33 FEHAEODND IWAMFS C ==h] 9/ 7 40. 55 55%
34 KA FnEy AL 4 /NG 9/ 2 40. 62 9%
35 AR Ain J S SR ==h] 7/ 3 41.29 65%
36 Lyl H 2= Z4S S M1 7/ 6 41. 86 5%
37 npk EHE SCHxz = 8/ 7 42.04 3%
38 L2l fRt Z e 112 9/ 1 42. 42 4%
39 ZEH K JSSHA¥F 3 12/ 8 42. 46 3%
40 A2—=7 4=V FE<H PIHFS C /N6 7/ 4 42.57 6%
41 HI ko A h<2%4E /6 8/ 6 42. 86 5%
42 Jho & WHTTS C NG 7/ 1 42.87 6%
43 WY A4 b~ %4E  H1 7/ 5 42.98 5k
44 FRHE  FikE b bz I N6 6/ 4 43. 43 6:5%
45 M F IS C 3 7/ 1 44. 00 24%
46 JEHFNEI HENy7SC /5 7/ 8 44. 32 5%
47 dbFE RF HEAS S N6 6/ 2 44.53 *Fi@) 5%k
48 ity B IS C NG 6/ 5 44. 98 45%
49 R R 2FE/SS NG 8/ 8 45. 35 5%
50 i FEEEM VYA N /NG 7/ 2 45. 55 6%
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51 MAAR(EIRE kv 7'SC Ml 6/ 6 45. 98 3%

52 ik T HH 54 1 6/ 3 46. 39 3k
OPN HE i B7Hess 2 5/ 1 41.97 45%
OPN AR L JSSHATF /NG 4/ 4 44. 15 5%
OPN ¥k £FH J S Sk /NG 2/ 5 44. 45 6%
OPN #ll [03E SPRE7ZF 0 /NG 6/ 1 44. 66 6%
OPN HAF JiE, SPIG7=F 0 NG 4/ 3 45. 01 5#%
OPN fEH Zk IWHHS C /NG 3/ 5 45. 30 5%
OPN #fe HH D R SR b= A 8/ 2 45. 42 1%
OPN 2H RfH IS C NG 4/ 8 45. 71 3%
OPN Tk ‘s=3F 2FE/SS ==h] 4/ 5 46. 05 2
OPN HJIF% 1 A4 h~r48E 2 5/ 4 46. 20

OPN HH  HEZ J S SHPk /N 5/ 2 46. 48 Tk
OPN Wil i WIS C ] 5/ 1 46. 57 Ltk
OPN s 135 J S S#Pk NG 3/ 4 46. 89 4%
OPN HARK Xz YAV NI /NG 4/ 7 47.22 3k
OPN Bf1  2Eme HEAS S N4/ 02 47. 31 65%
OPN {Hg& 40 SCHx% Ml 3/ 6 47. 64 2%
OPN ®H =SBk o2F/SS 1 4/ 1 47. 64 2%
OPN [LJE ¥#EE4& JSSH¥ /NG 2/ 4 47.79 45
OPN = T HEiH R YZYAY N /N4 5/ 6 48. 07 45
OPN Fits  TEZL JSSHT /N3 6/ 8 48. 36 65%
OPN JHEF 1 S S N3 3/3 48.79 6%
OPN Z8)I|  #j Ky 7SC /)b 4/ 6 49. 26 2%
OPN H({E #] J S Sk /N4 3/ 1 49. 30 5%
OPN # F  HI¥ H7HEeSS /)b 3/ 7 50.18 3%
OPN Z)I] A a%/SS /N 3/ 2 50. 26 5%
OPN K432 416 2SS /N5 5/ 8 50. 26 3%
OPN F#f JiE, ~N 2RSS /N4 2/ 3 53.48 3%
OPN 0 A ~N 2288 S /N3 3/ 8 53. 48 67%
OPN ik FHoF 2% /SS NG 2/ 8 55. 36

OPN {2k aIF/SS /N5 5/ 3 56. 39

OPN Hr (L 2 NZRS'S ! 2/ 6 57.59

OPN Hfd Bk ~N 22,88 S ! 1/ 6 58. 21

OPN HH  ME SCHxz NG 2/ 1 58.22

OPN W3 Ak HB7YeSS /M 1/ 3 58. 36

OPN ‘= H HiH v — MMARK /N2 1/ 5 58.93 3%
OPN [I'F fHHE a%/SS /N2 2/ 2 1:00.13 3%
OPN AR H At 4K 2% B — MABK /N5 1/ 4 1:01. 36

OPN Ll #ijJy J S SHABK /INB 2/ 7 %#7.6

OPN Jns &x aIF/SS /NG 5/ 5 £¥%4.4
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